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9!32200 trhtrqhh /nhqnr.rruln/ CZ thurn 480 1440000 3000
9134200 'Ihq hr rurhh rlrunhr hp/rurfurnurrhtr/ GZ thurn 470 1410000 3000

341,44710 Uhrhurlnn nurn&ht C2 hrirur 4600000 4600000 L
34351100 rurlurnilhphlnurh ruhhd hhn treuz hurur 50000 200000 4
34351100 rnnurtuurnh dhb ufuhrl trcuz hunn 190000 380000 2
9211900 Grundhlh mrlhn trcuz rhurn 3000 90000 30
30237tlt Uurnrnhnq trCUZ hrurn s0000 50000 I
30197631 fdnqB 44 $nnrirurnh trcuz urmrh 2200 110000 50
30!97634 fdnqB 43 $nndruurh trcuz tnmrh s000 s0000 10
30197643 farr.np A5 $nniluurh treuz urnr-fi 1500 15000 10
30t97230 flqBrrrutulnuh trcuz hrurn 100 15000 150
3019723L fdnraruutrulnub $rurr trcuz hrurn 10 20000 2000
30192160 FrunurnntuhmB /rurnhlu/ trcuz hunn 250 5000 20
30192220 '[nr hilhnurlhb hhptrurhru lnth druul rur] htr trcuz hruu 70 1400 20
30199231 Onrun hunftuhh trcuz hrurn 20 2000 100
30199232 Onrun ilhb 44 $nnilurtnh hrutirun trcuz hrurn 60 3000 50
30192!2I Qnht chahturdnn trcuz hrutn t20 24000 200
301.41200 Zruurlh> trcuz hrutrr s000 20000 4
30192710 Unuhtr& trcuz hunn 100 2000 20
30192720 Qburhthr /rfurnhhn/ trcuz hruur 250 s000 20
30192130 Uuruhur trcuz hruur .50 7500 150
30234300 I{nhltrhn trcuz hrurn 100 s000 50
30199210 trmqhhhhn trcuz hrutn ,250 2s000 100
39263320 Onruqnrtq utururh trcuz hurur 1000 10000 10
39263310 Onruqnttq uhnurhh trQUZ hruur 800 8000 10
39263200 Qnruuhtrrurb rurhh qhnp trcuz hruur 800 20000 25
39263200 Zmrrhurnuhrubruh qhnp trquz hruur 1200 6000 5
39831242 I.rlruqph rhnrh trcuz hrutn 760 15200 20
39832100 Uilruh rrlrurnr- hhnnrh trcuz hrurn 600 6000 10
3983L241, Qhnph odurn trcuz hruur 200 12000 60
18141000 Utluruunuhprur htr &hntrno trcuz hruur 100 1s000 150
33764000 Utr&hnnqhh trcuz tnnr-rh 150 5250 35
39836000 Urlhr trQUZ hurur 800 24000 30
31531200 hhhurnruhruh rrurftu trcuz hruur L00 10000 100
44521.1t0 'Inutr rhrrrhruh trcuz hrurn 4000 12000 3
30213300 Zurdruhurnqhl trcuz hrutn 180000 180000 t
302321!0 Lruqhnurhh uruhl trCUZ hrutn 100000 200000 2
31687000 Znurulrph hrlnqurd nnhr trCUZ hurur 20000 80000 4
39122200 ttlurhurnrutr trCUZ hurur 120000 240000 2
39715240 hhhunruhurtr qhnmqhr trcuz hrurn 3s000 105000 3
39113100 pruqburBnn trcuz hrutn 40000 80000 2
39121300 Qnruuhlrtrub ruthtr uhn rutr trcuz hrurn 49700 49700 t
3452000 Orunhn, utrhhhhn trcuz hrurn 500 100000 200
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s0232100 Onrln grul frtr lnq uhpfr bnpnqnr_d AQ 4Fluil 2000000 2000000 t
45232120 Lhnphtr qutrqh trnnnqil-il trcuz nnrurl 2000000 2000000 t
37s24000 Urutr\ru\rutr ]uruqhph ulrumqbFnr-f h

urhnurnnnrtl / trcuz qlrulri 600000 600000
I

7731,4100 9rutnu2ruulurnrft utr ru2|uruuuutrptrhp trcuz 4Plxd 200000 200000 1.

45233141
Lhphrurirul trprul frtr druhruqrufthtthnh pttfor. sftq

uprhuprtrnul h 2urhruqppbntd
cz lprrrri 1000000 1000000
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I 200000
I 200000 l
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L
6s310000 h1h\npruthhpqbu3|r pru2]urftuh burn. treuz rllrulil s300000 5300000 t

0
72400000 Zrurlur gurhgur3hh brunurlmpl nr-h trCUZ {Funi 250000 250000 t

6651.41t0 Urlurntihp hhurbhpfr qrupulu4|rp
,r rururuhnrlurqnnrrdrnt-h trcuZ qpurti' 300000 300000 t

71631200 Uhphtn+trhpfr urhlutrlr\ur\rutr uquuurF\nr-rf trcuz +Fluil 500000 s00000 t
50112100 Q1 mqruqhurlprutrfr rihphtnu3 fr hnpnqprri .|Ic

tluxri 500000 0

50tt21,LO Ql oq*rlhurupurtrlr upru\rnnpfr qc qFlrd 1000000 0

72267000
Qnrlpurhurpqh, hndr h*plfh

unlurndutnrug{rub
bnuronhnh utttrrrrrrrrnhnr r I

trQUZ +Fruri 100000 100000 1.

72261000 trlnu[nrp3urh nhqfruurp bp*qph
urultlulllnbnrrl

trcuz qlruril 100000 100000 L

7251,1000 Zudu\uFq:rqbh grutrglr uquuurp\nr-rf trcuz +Fulti 100000 100000 1.
92410000 fahfrphpfr, urluu qphpfr purdtutuF+*qnnlp1 nr_l: trcuz +Fluri 400000 400000 t
71354300 UQQ ulhrnurlilutr qpruhgmri, prupurhqruqpmil trcuz 4Iruni 300000 300000 L
71251000 ?rurfnuqptlurh brunru3nrplnthhhp trcuz +Funi 300000 300000 t
791-12000 Lhp\ru1u grr.g2ru\urtr bruluu trcuz 4Frxli 200000 200000 I
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